R N NSRS duan i aEanan

f1 s Ly
£q =3

jC[7(‘5 = ‘C:’US_S) ’ T /7&/?%7/“ T—zrﬂ«?
: //&

+ Lz pron

—_—

Approx w<er 3

Con= $eaS + — 7

+ =%y
W-e v/ o A/"j







Ex “?W;O T
//_/Z S/ﬁ/CZﬁ)) 0T h er
/{9@
J

7 7/;\/(2_57—\
~ 250 Ccosp

VL O»f"‘o /CstuM#
FMW+(M) Aeniv., O%'\"E

excs—}— N oo Cg;\/‘l 5 A

(3_;97_}\1&’\/ 4315 q/ﬂD;
4 o

-







[Ecx )] < VI Cx~a>]

[ Ew) = V]
[ 2=




mWV"é C+zd4/0\ /
@er\‘_\\/cﬂ+~t\/‘(5

U~ et

V€C+G}
o T T
/ﬁ/‘ [a)r=1

%&v&} = REAT)
?_A/(o) = 5:_?(-‘;)

3 “u
{ ct eX/f’ﬂ‘S




50:[7[3%@ ~P['g c/f\,‘(l? q‘)
U
%(&L+7<—7>~~3:f573
k/f‘
— LAY + E (oA
R
L TLes>uw ~ E(a—?—?ia’)

—

So  Ju¥E = V@ &
i = ——







